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Who wrote the boolk, pesher

Katha ?

(A] Sakharam Ganesh
Deuskar

(B) Rajendra prasad
(C) Nivaran Chandra
(D) Murali Mohan Prasad

(E) None of the above/More

than one of the above

Who was the Editor of
Searchlight newspaper in Bihar?

(A) Abdul Bari

4. Who was th€ Eﬁgﬂﬂs? |

Indian Mation
(A) William Adam

(€) Rash pehari BO®®

D) Motial N G
(E) None of t;:lthnﬂbﬂ.."b__- I‘: |

than one o 1
Who said, lswﬂfa my |
birthright and 1 ﬁhﬁrhaﬂ'-: it
(A) Bipin chandra P2l |; :
(B) -'ﬁﬂrnhg.ndu,{j};ﬂ:‘ |
[ﬂ} Eﬁiﬂaﬂ m----..




8. Which revolutionaries were Who was the first Satyagrahj \
hanged in the ‘Kakori Train of the Individual Satyagraha
Robbery Case'? Movement? \
(A) Ram Prasad Bismil and (%) Sargitni Naidu

Ashfaqulla , i .
(B) Veer Savarkar and Vasudev (B) c. Rajagopalachari
Chapekar (€] Vinocba Bhave
€} Prafulla Chandra Chaki and (D) Subhash chandra Eﬂ'&ﬂ
Khudiram Bose [E) Nome of ihe abmrﬁ
(D) Surya Sen and Udham thangone of the abo e
Singh N
(E)] None of the above/More
than one of the above

9. Who wrote the book, India for
Indians ?
(A) C. R. Das
(B) M. G. Ranade

(C) V. D. Savarkar

(D) 8. N, Banerjee

(E] None of the above/More
than one of the above

10. ‘Satyashodhak Eama,]
founded by :
(A) Day, ar_lgtgd
(B) Jyotiba Phu




18. The number of ways Iﬂmlﬂ
identical pens can be distributed
between two students, if each
student is to get at least twe

then the value of S is pens, is
(A) 8
(B) 9
{C) 10

(B) 12:}+% D) 11

(E) Non

(A) 125
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(D) 130

(E) None of the above/!
ﬂuu:qmﬁﬁfLT_;-jhf



21. The next term in the sequence 24, If :
1,3, 9, 15, 25, 35, 49, ...

' 3

will be 5

(A) 80

.ta—y-3=¥ and x—-y=

(B) 64 then the value of x%+xy +y2
will b

(C) 81 e

(D) 63

(E) None of the above/More
than one of the above

(A) 1

22, II‘.:«:E"—g,,r2 =7 and x-y =1, then
the length of a diagonal of a
rectangle with length and width
respectively x ecm and Yy cm will
be

[A) 5 em
(B) 6 em
(C) 7 em
(D) 8 ecm
(E) None ‘the

i
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26. The study of bones is done

under the

branch of science

called

(A)
(B)
(C]
(D)
(E)

geology
serology
orology
osteology

None of the above/More
than one of the above

27. Which of the following does not

have any enzyme in its cells?
(A)

(B} Virus
(C) Bacteria

Lichen

(D) Algae
(E)] None of the above/More

28. In which organ of the human
body are the lmnphu{m:{y‘«{b
formed?

(A) Liver Q}\i\
(B] Bone marrow \éd
() Spleen \é

than one of the above

s

30.

31.

0

2. The sunlight from the sun to the

33.

(C) Ik
%Q}ﬁ?-z:

AIDS is caused by

(A) helminth

{B) bacteria

1€} fungus

D) wirus

[E) Nonc of the above/More
than one of the above

The unit of pressure is

(4" ke /cm®

(B) kg/cm

None of the above/More

than one of the above

earth reaches in
[A) 5 minutes
[B] & minutes
(C) 8 minutes
(D) 10 minutes

(E} None of the ‘above/More

‘than one nfthnm

Which one of the foll
aaala:q?ﬂ-ﬂnﬂtﬂ

27.




34. Which one of the following
quantities does not have unit?
[A) Stress
(B) Force
(C) Strain

(I3) Pressure

(E) None of the above/More
than one of the above

35. Sound wave in air is

(A) transverse

(B] longitudinal

[C) electromagnetic
(D) polarized

[E) None of the above/More
than one of the above

36. The value of 50 °C in Fahrenheit

scale 1s
(A) 104 °F N\
O\
(B) 122 °F Q}‘%
\E
(C) 100 °F O
(D) 75 °F \33

Modern Chemistry?
(A) Rutherford
(B) Einstein

(C) Lavoisier

(D) C. V. Raman

(E) None of the above/More
than one of the above

38, Body temperature is regulated 34. =l
by 21
(A) medulla (&)
(B) thalamus (B
{C) hypothalamus £
(D) cerebellum D
(E) None of thc abovefMore (E)

than one of the above

39. The device to measure electric
current 18 35. =
(A) wvoltmeter &
(B) ammeter ]
= £
(C) volkameter
(D) ﬁg;fentlﬂmtttr
f.ﬁ None of the above/More

&0 than one of the above

40. The unit of electric power is 36
(A) ampere
(B) wolt
(C) coulomb
(D) watt
(E)} None of the above/More

than one of the above
41. Who is regarded as the Father of



42, The number of electrons and
neutrons in an element is 18

and 20 respectively. Its mass
number is

(A} 22

B) 2

(C) 38

(D) 20

(E} None of the above/More

than one of the above

43. Which of the following is also
known as laughing gas?

(A) Nitric oxide

(B] Nitrous oxide

(C) Nitrogen pentoxide
(D) Nitrogen

(E} None of the above/More
than one of theé ahove

44. Which of the following is‘ng?a
type of clement?

(A) Metals

(B) Iﬂnnmt'Ldﬁ\X&&'

(B) 7
© 12

(D) 18

(E) None of the above/More

O

46. The main component of
greenhouse gases is

(A) carbon dioxide
(B} methane
(C} mitrous ouade
D) czone
(E) None of the above/More
than ovne of the above
47, Oxygen is absent in

(A) kerosene

[Erl(,g,}ass

Q/\% 501l
(D) cement

(E} None of the above/More
than one of the above

48. Natural rubber is a polymer of
{A) isoprene
(B) styrenec
[C) wvinyl acetate
(D) propene

(E) None of the above/More
than one of the above

49. What is the formula of glucose?
(A) CgHgaOy
(B) CgHipOs5
(C) CgHy204
(D) CgHgOg

(E) Nome of the above/M

432.
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50. What is the bond order of €O §3. The actual location or place
group? where an organism Lves is called 50. C
(A} 1 (A) habitat |
(B) 25 (B) ecosystem
(C) 23 (C) niche
(D) 3 (D) biome
(E} None of the above/More (E) None of the ,gbpv.;_*.,-_"}ﬁnm;g
than one of the above than one of the above
54. Solar cnergy 1S converted into :

51. The book, The Origin of Species
was written by

(A) Linnaeus
(B) Lamarck -[B',\{ gs.zomp;ast
(C) Mendel Q
(D) Darwin &Q‘Q (D) peroxisome "

(E) None of the above/Mor (E) the: aboy
than one of the a;:mw\\i\‘% than one of the above

>
- 52, The interaction bs\{r% algae i




56.

57.

Who was the Chief Justice of
the Patna High Court who
administered the oath of office
to Mr. Fagu Chauhan as the
Governor of Bihar in July 20197

(A] Hon. Mukesh Shah
(B) Hon. A. P. Sahi

(C) Rekha Manharlal

Hon.
Doshit

Hon. Dipak Misra

None of the above/More
than one of the above

(1)
[E)

What is the significance of

Bihar Diwas’ that is celebrated

on March 22 every year?

(A) On this day, the State
Reorganization Commission
created Bihar

Bihar was carved out of
United Provinces on this
day in 1873

To commemorate Bihar's
separation from Bengal

Presidency in 1912
(D) To celebrate namiing

(B)

(C)

Bihar in 12th century
Muslim rulers

Mﬂﬁ:‘eﬁf‘ﬂm

ﬁwmw the

0)
™
abe},&ﬁ:m

: _fnllnwing

59. Yousuf Shah Chak,

Mughal emperor Akbar, was
buried in
(A) Patliputra
(B) Rajgir
(C) Munger
(D) Nalanda
(E} None of the above/More
than one ©f the above
60. What is the 1ag1|r1= of Bihar
State Tourism Development
Corporation
(A) Bright Bihar
(B) Hom Sabka Bihar
() Blissful Bihar
(D) Bihar is the Best
(E) of the above/More
w one of the above
61. e Minister Narendra M_
cently laid the Im;m a
OQMﬂﬂﬁﬂl Dam Project to be bﬂﬂt
on which river?
(A) Koshi
fE} Burhi Gandak
tﬂl Phalm

the last

Muslim ruler of Kashmir valley,
who was exiled to Bihar by the

|
;-..1-' "' “ _"" i

56.




63. Which country was invited by
the host UAE as the ‘Guest of
Honour' to attend 46th Session
of the Council of Foreign
Ministers of the 'DrgEU'ﬁZHT.iﬁﬂ of
Islamic Cooperation (0QIC) held
in Abu Dhabi recently?

(A) Pakistan
(B] Oman
(C) India
(D) Turkey
(E} None of the above/More
than one of the above
64. Recently, ISRO and CNES
signed an agreement to set up
a joint maritime surveillanceé
system. CNES is a space agency
of which country?
(A) Russia
(B) Germany
(C) France
(D) Canada Y N
(E)] None of the ﬂhu?ﬂ-fMDIﬂ
than one of the above
65.

to which the Vice Presiden
Iﬂﬁm paid a w&ﬁ m\@!t

o

'

What is the capi mumag%

67. Which edition of the 1
Sign Language Dictionary
released by the Governmeny ﬁ:t

March 20197
(A) First
(B) Second
(C) Third
(D) Fourth
(E)

63.

None of the abmmf
than one of thl:

68. Who

' 13k ].- pl_.l"l-
1u ERETEF .|J|.



T2.

73.

7T1.

Who was the winner of the
Men's Singles of the YONEX
All England Open Badminton
Championships, 20197

[£4)
(B)
(C)
(2)
E)

Vilctor Axelsen

Lin Dan

Kento' Momota

Shi Yue

None of the above/More
than one of the above

The five rhino range nations,

who signed a declaration ‘The

New Delhi Declaration on Asian

Rhinos, 2019', are India, Nepal,

Malaysia, Indonesia and

(A) Vietnam

(B) Thailand

(C] Myanmar

(D) Bhutan

(E}] None of the abovefMore
than one of the above

Who is the second fastest
batsman to score 25 centuries
in the test format after Sir Don
Bradman?

(A) Virat Kehli

(B) Mahela Jayawa rdr_-:mb’\s\'%

(C) Kane Willlamsen \i\’
(D) Steve &mith Q)
(E) Nome of the \..égcfefMﬂre
than one o above
B~ the spacecraft
-2 was launched
dian State?

(£) Nome of the sbove/More
" than one of the above

~2019/1-B

A

5. After Theresa May, who amonggt

Who was the Permanent
Representative of India 1o
the UN before Syed Akbaruddin?

(A) Hardeep Singh Puri
(B) Shashi Tharoor

(C) Asoke Kumar Mukerji
(D) Nirupam Sen

(E) None of the above/More

T7.

the following was not among the & 71, aitmm |y
last seven in the qul:m after 4 F &
the first round of votuing 1N the i
Conservative Party 10 b_f the s
Prime Minister of the UK 2 TEH
{A) Boris Johnson C)
(B) Matthew Hancock D)
(E) 3
(C) Rory Stowarl -
(D) Marlk Harper T2, a1
Higur-
(E) None of the above/More hrp
than one of the above i

M. . ter lhll

76. Where was the lIlchnal o
Meeting of the Coordinating 1B)
Bureau of Nﬂl:l'ﬂhgutd Mo
Movement (NAM) held in 20189 D)

(

{Q})\Venemcla (E)

\Q {B) Azerbaijan ——
ON (@ serbia §
(D) Ethiopia Wi
(E) None of the above/More {
than one of the above |.
J

.‘.
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78. Who 1S the Democratic g2, UNESCO - 5019 thy

Presidential candidate and the celebration O Yei Sl 78w
first Hindu member of the Internation: Ed;_ Enf the - EHIekveR
US Congress, who sued Google Periodic  Table Dl " _h'!rn.iim FHTE
for at least S50 M for its Blements 10  CGEACDIGGEE R 3
‘discriminatory actions’ against completion of how mMany Yearys T
his fher 2020 election (A) 100 -
campaign? (B) 150 L Gionog
[A] Ro Khanna () 75 (A T
(B] Bobby Jindal (D) 50 {B)
(C}] Raja Krishnamoorthi (E] None Ol the abgvt,ufhdn,t )
(D) Tulsi Gabbard : than osgyel, the S5 A
(E] None of the above/More 83. By passing Triple Talad Lay =)

than one of the above recently, the Parliament of Indiy

T : dors 1 which Yyear 5 I I-ﬂ.h: ;
79. Who is the author of the book, o 'ht;f-‘ s ourt of 1 : 9, T
A Gallery of Rascals? of the Supreme & ndig Lo

S L that had made Triple Tala,g‘_
(A) Arundhati Roy (Talag-c-Biddat) as unconsg. 1A
(B Ruskin Bond tutional? B
(C) Vikram Seth (A) 2011 (G
(D) Toni Morrison (B) (2013 L
(E] None of the above/More 3, 2015 i

than one of the above gy 2017

. : . a E} None of the above [More.
80. The first showroom in India of 0\% " than one of the e BO. 1
4,

the retail furniture giant lkea’ ]
Where is the BRICS Summit,

was opened in which city 1
20187 2019 scheduled to be held?

(A] Bengaluru A \{\'% (A) Eragil
(B) Hyderabad \ (B) India

(C) New Delhi QJ\YV [E‘ Ehi"?
D) Mumbai \£_4 {'EE; szanf the above/More
(B} Nome of ‘1%‘ above/More than one of the above
than ong bb the above -
¢ Summer Olympic =4 f:"w“ hETETtP}:: Eﬁlfﬁndum ﬂfatf'r.h; .
held in 20207 Midoond: Padmansbhant
: (A) N. Ram

(B) Siddharth Varadarajan
(C) Suresh Nambath

(D) Malini Parthasarathy
(E) None of the above/More
than one of the above



87.

88.

aame by which Ashokg iy

86. Whois considered as the creator 90. The
of Modern Bihar? generally referred 1o in 86. e
(A) Sachchidananda Sinha inscriptions s B
(B) Kumar Kalika Prasad Sinha (A) cha_'lirm-'ﬂfu l'ﬁq =
(C) Sir Ganesh Singh - 1B}
- " ds rahi 5
(D) Acharya Narendra Dev Bl ) =
(E) MNone of the above/More (C) Dharmadeva D) =
than one of the above o~ -
(D) Dharmakrh \E) S
Who formed Bihar Provincial . bove /M
o ; nel of the @abo Ore
SIEEnSHaTher [L:I HTE_L D::r_‘ ol the above B7. ﬁm
(A) Swami Sahajanand : T
Saraswati
(B] Ram Sundar Singh 01, Who among the following ig B
. . 3 known for his work on medicine (B
(C)] Ganga Sharan Sinha during the Gupta period? ©
(D) Ramanand Mishra y
(E} None of the above/More (A) Sushruta liE
than one of the above ]\SEI. Hla
Dutch East India Company {:} Shudraka
established its factory at Pama \Q 88. *
in which year? /Q (D) Shaunaka j
{.P.:I 1601 (B} MNone of the H.’EI'DVE,!MDIE
(B) 1632 \{\,% than one of the above -
() 1774
(D) 1651 Q)\&\ 92. Which one of the following
None of the ve/More scripts of ancient India was
(E pt .
than one of {h# above written from right to left?
Swaraj Dal in (A) Brahmi 89
hna Singh (B) Sharada
(C) Kharosthi
Chandra Mitra
: : (D) Handanm
 Sachindra Nath Sanyal | _
) Nonme of the above/More (E) None of ‘thie] "h ave/More

than one of the above



93. Which one of the following poris

was in usec for the north Indian
trade during the Gupta period?

(A} Kalyan
|B] Tamralipti
(C) Broach
(D) Cambay
(E)} None of the above/More
than one of the above
94, Mughal painting rcached its
zenith under
(Al Jahangr
(B} Humayun
(C) Shahjahan

(D) Akbar

(E] Nene of the ahnvef!'vinre&

than one of the above C>

95. In medieval India,
Mansabdari syste ‘3 duced?

é&gm

recruitment to

For reven

%;

g5, Who

established hﬂhr.al

(E} MNone of the above [ More
than one of the above

98. Who used Hooghly as a base for

piracy in the Bay of Bengal?
(A) The Dutch

(B) The French

(C) The Portuguese

(D) The British

i 93, Trefufie
(A] Chandragupta U
I Wy
] tolea
(SRS A) ==
(C) Harshavardhana By
(D) Shivaji AC) ¥
- of the above/Megy Dy
[EF H"HLEI:._: one of the above
‘han -
Which Delhi Sultan bﬁﬂt
maximum number of canals? Sa]
(A) C;qu Shah Tughlug T
Q@g Htutmish AN
1=
(C) Balban :
(D) Sikandar Lod1 :

95.

{E}Mafﬂmmw

than one of the above

t ;‘l-‘ Ir‘l.

E:ﬁ



99,

100.

Under whose leadership was

suppression of Thugs achieved?

(A) Lord Clive

{B) Captain Sleeman

{C) Lord Minto

(D} Alexander Burnes

(E] None of the above/More
than one of the above

The Viceroy who followed

aggressive policy towards

Afghanistan was

(A] Lord Mayo

(B) Lord Lytton

(C) Lord Dufferin 1

(D) Lord Canning

iy n@%u@%

102,

103.

A8

The S-at‘ul:l-ﬂndi Campaign &

d by
1922 was ic _ R e
(A) Chittaran)an Dras T
(B] Sardarl vallabhbhal Pate] s 1
ad
(C) Rajendrd Fra: e
ﬂ.‘l.
D) Lala Lajpat
[F: None ©! the above/Mopes | Q) o §
i h ane of the above 1 e
4 D) S
s Lhc president of thels adl
f:r'lll;?ﬂ [1;.;3; fationi | Congress al he @L%
timelol, parifion of India? .ﬁ."
(&) 3. Kripalani |

(B} Jawahﬂ.l'lal Nehru

1C) Maulana ﬁbm]{n!am

[ﬂi,ﬁﬁja&ﬂpﬂmﬁuﬁ o 8
if) ) None of the ghqmu_g M Q
Whﬂludﬂmlss*? ,.,1,* f"



th-t'. [“n{:"ﬂn‘i.

which one ©f

106. Among the following districts, e countries 18 the largest ':nm.m'mﬁ' TR,
which ane has larger area under without porders in  termg ST
dense deciduous forest COVETT gﬁcngTﬂF'hmHl arear " |

d A} o
: New Zealan
(A) Paschim Champaran (4] =l _
(B) Philippines (B) v
IR ) Japan 18 R
C) Kaim (D) Cube
. [ s (E) None of the El.bm'n:,.f}..-]ﬂr& (D) ==
¥ : 1L |_'|f the Hbﬂ‘-"e =
(D) Newada than ©1 (E) =
(E] None of the above/More 110. The county which ‘?35 the LE
than one of the above longest north-south _E_lﬂmF“jlfLa];
. ¢ its terntory 1s !
:::4:1:*1;..”'::.:‘.1 -f" i 107, T
107. The district of Bihar which has a L] H"_"f”"‘ 21
longer length of Ganga river is (B}. Chile
. (¢} China (&) #
A :”LH.EE.'.PUT lD] EI‘HIH lB} :
IB) Katihar (E), ipne  of the above/Morr
| han one of the above /FC/T 1
C) Paina _
. 111 ) Which one of the following (DY
ID) Bepusarai countries has the highes
: number of islands? E)
(E] None of I.':|1F"- _‘.]]hULV- More (A Philippines
than one of the above g
(B) Indonesia
) (C] Maldives
108, Which district of Bifwg\ has (D) Cuba 108. Eﬁi
rer‘f I.:jE"T" Fh‘," I:Igh\:t};gm:{w o (E] None of the above/More e
PORES g f{‘"- R than one of the above
the 2011 '.,;Ensyl%u
\\ 112. Among the following countnes, U
tay~Sheoltar ™ . .
g i which one is the largest (F
producer of saffron in the world?
(A} Spain J
(B) Greece 'l
(C) New Zealand
(D) Iran
None of the above/More (E} None of the above/More
than one of the above than one of the above
FE/CI
32
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e following

countries is the la rgest ]:rmducur
of uranium in the world?

113. Which one of

(A] Kazalkhstan

(B} Canada

(] Australia

(D} France

(E) None of the above/More
than one of the abave

114. The hills situated closer 10

K:‘lrl_‘-.-'.zL]{'..l]nﬂ.ri are

(A) Anaimalal Hills

(B] Nilgiri Hills

(C] Cardamoi Hills

(D] Shevaroy Hills

(E] None of the above JMare
than one of the above

115. Among the following L ibutaries,
which one is the pait of Gang,
river basin?
[4':';] Sankh A {\/‘ )
(B) North Koel N\\

(\{
(14 South Koel 0,
L \ [V~
(D Barakar \;}
(E} None g};}-ﬁhe above/More
b \mie of the above

one of the following hills
it have tea plantations?

ilgiri

Darjeeling

(D) Girnar

(E) None of the above/More
than one of the above

m( PT-2019/1-B

: State with
In Indi® the t
117 e qrea under deg, )
deciduous forest COVer is 113, Taefama
THY o
(A) Odisha T 27
(B) Mﬂhg;—aﬁhlt‘ﬂ LAYy
(©) Madhya Pradest i
i
{D‘] Chl’ :AL'LI'E"EIh D)
(E) NONE af the above My {E)
han One¢ of the above
114, =
118, Cotnl reels are not found , A
which ane of the I-n”.cl“]_'_-: s
ions? e
LR IC
(4) Gull of Cambay |
{ >
(Bf Gulf of Mannar [
(C) Gulf of Kachchh
(D) Lakshadweep and Minic 318
Island
(E) None of the above [ Mo
than one of the above
119. Among the following religos
groups, which one has records
the highest percentage °
literacy rate as per the 201
Census? 116

(A) Christians
(B) Hindus

[C) Sikhs

(D) Jains

(E) None of the above /Mot
than one of the above




120. Which one of the following
pairs of Tribe and State is not
matched?

(A} Bhils—Gujarat

(B} Gaddis—Himachal Pradesh
(C] Kotas—Tamil Nadu

(D) Todas—Kerala

(E)] None of the above/More
than one of the above

121. Which one of the {following

industrial /economic  corridors
of India is being developed in
collaboration with Japan?

(A} Chennai-Vizag

(B) Mumbai-Bengaluri
(C) .Delhi-Mumbai

(D] Amritsar-Kolkata

(E)] None of-the above/ N
than one of the aboke

\.[. VvV :
122. Which ene of Jse following
districts does nathave Dharwar
_geolog :,J;ELI% fnrﬁm tions?
- \ ™~
‘rp}ng{r

(E) None of the above/More
than one of the above

FE/CC/PT-2019/1-B

amber aof districts Ehualﬁﬁ

123. Then Kk of Ganga river ,
s thﬂE':J;LE is 120, Fedy
Bihar i
(a) 21 AL
B) 17 (B
() 12 (o
(D) 6 \&)
‘ t bove [ Mgt
. M ane of he 4 L B
¢ T.t?m nne of the above \E)
g i the followiy
24. .. W hich oOne< o : = . £ 121. ﬁ-
1 1dlife S apnctuaries 1S IE'IH.IEJ_Qd X
' Munger district of Bihar? 3
(AY_Valmiki {.
|B) Rajgir |
X (c) Bhimbandh
(D) Gautam Buddha
(E} Mone of the above/Mare
than one of the above
125. The district of Bihar which has

recorded the highest sex ratio 123.
as per the 2011 Census is

(A) Siwan

{B) Gopalganj

(C) Saran

(D) Kishanganj

(E) None of the above/More
than one of the above

FE/




126. Who amongst the following 158

land record officer?

{A) Patwari

(B) Lambardar

(C) Zamindar

(D) Zaildar

(E] None of the above/More

than one of the above

127. Which one of the following

characteristics is not true for
unitary form of Government?

(A) Swift decision

(B] Flexible

[C) Ideal for large countrics
(I} Uniformaty of laws

(E) Nene of the above/Meore

than one of the above

128. What is the
CommmuniLy
Programmes?

abjcetivel ™ of
Devilopment

(A]" Providing ediitional
N facilities
/giﬁf‘*)}kﬁrmﬁn& standards of
I- 3

‘ N\
WA
\.

e/
olical training

ping villages in planning

(E) None of the above/More
than one of the above

| FE/CC/PT-2019/1-B

129.

130.

131.

m Admi party is a

Aa
(A) State party e ”
(B) national party B?
(c) regional party AT
(D) rt:g‘islt:rtd party (B} =
" |
i.E'] None¢ of the dhﬂrt”"h-_ L84
L'h_al .D','!'-" l::'r th': ﬂhﬁ'l.'t qD]
(E)
Wiieh  enc of the rﬂ]-h'i.'k_.
canstitu tional remedies g dy
lrmown as 'pnﬂtmnn:m‘? P
'3) Prohibition =
(B{_ Mandamus (A
|C) Certiorari E
(D) Quo warranto (€
(E) None of the above/Mau [
than one of the above |

What is the version of th
machine VVPAT used for voun |
; : 128.
in India?

(A) M1

(B} Z1

C) M3

(D) Z3

(B) None of the above/Mor
than one of the above

FE/C
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132. Which one of the following 134. Which oORE

Indian States has the largest
number of members in i{ts State
Legislature?

[A} Arunachal Pradesh

(B) Himachal Pradesh

(€] Manipur

(D) Meghalaya

[(E} None of the above/More
than one of the above

133. In the Indian Ordecs b
Precedence, who amongslt the
following comes first? i

Vv 32
¢ {‘\\0
AV e o - oS
(A] The Chairm@n.of UFE[‘E‘ \

(B) The Chief G’.’iéetinn
Comm I:‘-T!’-jl,inﬂl‘ 5

(E} None of the above/More
than one of the above

din
statements 18 cnﬁe;:nt r;:gﬂf ugi,r e
parliamentary
Government?
(A} The Legislature is
responsible 10 Judiciary.
Legis|amare is
(B} The Legis 1
responsible 10 Executive.

(C] The Legislature and the
Executive are independent.

(D) Tﬁ:{ﬁq}sidcnt is responsible
tp Judiciary.
o\

\,}
n
}\Nune of the above/More

W)
\)g\ than one of the above

N

13.

Which of the following was
constituted under the
Panchayati Raj system?

(A) Khap Panchayat
(B Caste Pﬂnﬂhﬁ}"ﬂt

\C) Gram Panchayat




136. As per the Census 2011, the
child sex ratio in Bihar was

(A) 935
(B) 934
(C) 933
(D) 932

(E) None of the above/More
than one of the above

137. The growth rate of the tertiary
sector in Bihar during the year
2017-18 was
(A) 1429
(B) 14-6%

(C) 156%
(D) 15-29%

(E} None of the above/More .

than one of the above
138. The kéﬁi:}
t
¥Yecar

Gross ~ Siate

Product (GSDP) of ﬁi%' a

current prices in

= y
- o 1o
ok L] . -

Development
Rural Literacy Development

(C) Rural Railways R
dvanced Communication
2 ‘:i::;:s for Rural People
(E) None of ac above/More
than onc.ef the above

Programme was

tyoday a .
A8 : of all in the State of

started first

(A) Bihar

(B} Tamil Nadu

(C) Andhra Pradesh

(D] Rajasithan

(E) Nong ‘of the above/More
g one of the above

141, Lﬂa share in meat and meat
&@ aration exports in the year
2017 was
% (A) 5%
(B) 6%
\s\‘ (C) 2%
(D] 3%
(E} None of the above/More
than one of the ahnm‘:

142. The system under which the
m‘ himself owns the land
of land fww R

140.

13



143. In the fiscal year 2018-19, the

144,

145.

146.

total foreign exchange reserves

dare
(A) ¥ 34,655,882 crores

(B) ¥30,55,882 crores
(C) ¥#32.55,8B2 crores
(D) ¥28,55,882 crores

(E} None of the above/More
than one of the above

Which one of the following i1s not

a source of direct finance?

(A) NABARD

(B)] Regional Rural Bank

(C] State Bank of India

(D) Allahabad Bank

(E] None of the above/More
than one of the above

What is the full form of EPCG?

(A) Export Promotion
Consumer Goods

(B] Exchange Programme for
Consumer Goods

C] Export Promotion Capatal
r.ll'l,.ll'.li':'-,
(D) Expert Programme for

Credit Generalgon
(E) -"_-'um- U:Lh a!;vt,{]‘?‘hi@é
than one ol & -gabhove \>
' o Q!

In Pradhan Mantr Shg:}h’i Yogi

Maan-Dhan ~— sch m\ﬁ each
sU bserilis \?1 w\?ﬂ?ﬂiﬂ! the

@fumu réd pension of
B \ ptI faller attaining
e s.

(Al T3

(B)

D) € 1,500

[E) None of the above/More
than one of the above

FE/CC/PT-2019/1-B

147.

148.

149

150.

es 'l‘_l']f! min:'l.m‘tlm

Who determm_ :
support price 1n India?

1551011
The CommiSss
(A) ﬁgﬁi‘ultural Cosls

Prices =
The Agriculture Ministry

The Finance Commission

for
and

(B
(C)
(D) NABARD

(E) None of U
than one ol

the above/More
the above

Hindu growth raie is related to

(A) money
(B GDF
(C) population
(D) GNP

(E) None of the above/More
Mhen one of the above

X

i Bihar, Krishi Kumbha Mela,
“2019' was held in

(A) Champaran

(B) Motihari

(C) Rajgir

(D) Gaya

[E} None of the above/More
than one of the above

oo e

(A) 30-12

(B) 30-13

() 32:11

(D) 32-12

(E) None of the abgye
than one “f:h!ahmnium
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